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Answer keys of the written test held for selection to the post of
‘Catering Attendant — A’ on 25.06.2017 (Sunday).
FIT IR - T Ug & TIF &g & 25.06.2017 (IFAR)
® HAST foaa oler & & s
(Advt. No. ISAC.03:2016 dated 17.12.2016)

| - Answer Keys |

Series A |1 SeriesB - | | Series C J_I Series D
Question Correct Question Correct Question Correct Question Correct
No. Option No. Option . No. Onption _ No. Onption
or | B o |] p | o | B [ 0o | C |
2 | A || o | ¢ Jj 02 | A | m D |
o3 | b || 0 | ¢ || _0 [ A || _o03 A |
04 | A ] o4 | A | o4 C 04 | B

05 | A 05 | D || 05 D 05 | B
06 | ¢ J | o6 | B }j_06 [ C || 06 [ A ]

07 B || 07 | C . 07 | D | 07 C

08 | D 08 | B | o8 | A | 08 | cC
09 | C 09 | A | 09 | B || 09 I D |
10 | ¢ || 1w | A | 10 | ¢ || 10 || A

11 | B | 11 B || 11 | p || 11 | B
2 | B | 12 D || 12 | B J[ 12 ] D |
13 | D | 13 | B ||| 13 B || 13 | B |

14 | B || 14 | B || 14 B || 14 | B

15 | B | 15 | B 15 F B || 15 B
16 | B |1 16 | B T 16 | B || 16 c |
L 17 [ B 17 | B 17 | B | 17 | A ]
s | b |18 | B |18 | B || 18 D
L9 3 B J1 | b 19§ B )19 | B |
20 | b J | 20 | D || 20 | D || 20 | B |
21 | ¢ 2t | ¢ Jf 2t | B || 2t | D |
22 | b j 22 | A | 22 [ D | 22 | A |
.23 | A |23 | D || 23 | ¢ J[ 23 | C |

24 | Cc || 24 | B . 24 | D || 24 | B

25 | B 25 | ¢ J[ 25 | A || 25 | c

26 C 26 C 26 C | 26 B
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Series A Series B Series T 1 Series B |
{(Juestion Corzjecfz Quesiion Coﬁject (Question ‘ «C{)nject Question Con:ece:
No. Option MNo. Option MNo. {ption Mo. Option

[ 27 | ¢ J 27 [ A y| 27 | B || 27 | D |
28 | A )| 28 | ¢ J| 28 | ¢ J[ 28 | C |
20 | B || 2 | B || 2 | ¢ J[ 20 | B |
.30 | B || 30 | B }| 3 | A || 3 | B |
. 31 | b 31 | A | 31 | B J[ 3 | D |
. » | b 32 | b} 32 | D || 32 | D |
| 3 | B /| 3 | b Ji 33 | b} 33 | D |
| 34 | A | 34 | D | 34 | A || 34 | A |
. 3 | b [ 3 | D }| 3 [ D | 3 | B |
36 | A [l 3 | A || 3 1 D | 36 | A |
37 oo Jl3 | b | 37 [ .A | 37 | C |
38 | ¢ || 38 | ¢ ) 3% | b || 38 | D |
39 oA J39 | B 39 1 A |3 | D
40 D | 40 | A || 40 | C ||| 40 | A




